M-G-5-1_Lesson 1 Graphic Organizer KEY


Parallel Lines: lines that never intersect because they have the same slope

Ex:  Graph the lines y = 3x + 1 and y = 3x − 2.

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


Perpendicular Lines: lines that make a right angle (90() with one another


*the slopes multiply to −1


Ex:  Graph the lines y = 
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x + 3 and y = −4x − 1.

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


Practice Problems: Find the slope of the line that is perpendicular to the given line.

1.  y = -5x + 4


m = 
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2.  y = 
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x − 2 


m = −
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3.  y = − 
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Distance Formula: used to find the distance between two points or to calculate the length of a side of a geometric figure in the coordinate plane
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Practice Problem:

Find the length of one of the long sides of the rectangle below.
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Midpoint Formula: used to find the coordinates in the middle of a line segment or between two points in a geometric figure on the coordinate plane
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Practice Problems:

1.  Find the midpoint from the previous example.
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2.  Let’s say a line has an endpoint of (4, −5) and a midpoint of (−1, 6). What are the coordinates of the other endpoint?
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(7, 0)





(0, 5)
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